Fixed Point Theory, 10(2009), No. 1, 89-98 http://www.math.ubbcluj.ro/~nodeacj/sfptcj.html

NOTES ON BROWDER'S AND HALPERN'S METHODS FOR NONEXPANSIVE MAPPINGS

YAN-LAN ${\rm CUI}^1$ AND XIA ${\rm LIU}^2$

¹Department of Mathematics, Yanan University Yanan, Shaanxi 716000 People's Republic of China E-mail: yadxcui53@163.com

²Department of Mathematics, Yanan University Yanan, Shaanxi 716000 People's Republic of China E-mail: liuxia1232007@163.com

Abstract. We show that a projection applied to Browder's and Halpern's methods can find the minimum-norm fixed point of a nonexpansive mapping. This supplements the results in existing literature on iterative methods for finding fixed points of nonexpansive mappings. An application to finding the minimum-norm solution of a convex minimization problem is included.

Key Words and Phrases: Projection, nonexpansive mapping, fixed point, minimum-norm, Browder's method, Halpern's method, convex minimization.

2000 Mathematics Subject Classification: 47H09, 47H10.

1. INTRODUCTION

Let H be a real Hilbert space and C be a nonempty closed convex subset of H. Recall that a mapping $T: C \to C$ is said to be *nonexpansive* if

 $||Tx - Ty|| \le ||x - y|| \quad \text{for all } x, y \in C.$

A point $x \in C$ is said to be a fixed point of T provided Tx = x. We will use F(T) to denote the set of fixed points of T; that is, $F(T) = \{x \in C : x = Tx\}$. Note that F(T) is always closed convex (but may be empty). A sufficient condition that guarantees $F(T) \neq \emptyset$ is that there is a point $x \in C$ for which the trajectory $\{T^nx\}$ is bounded (for more details see the monograph [3].)

Suppose that $F(T) \neq \emptyset$. Then F(T) is a nonempty closed convex subset of a Hilbert space; hence there is a unique point $x^{\dagger} \in F(T)$ with the minimumnorm property

$$||x^{\dagger}|| = \min\{||x|| : x \in F(T)\}.$$
(1.1)

In another word, x^{\dagger} is the metric (nearest point) projection of the origin onto F(T): $x^{\dagger} = P_{F(T)}(0)$. We here refer x^{\dagger} to as the minimum-norm fixed point of T.

An interesting problem is how to find x^{\dagger} through an iterative method? To the best of our knowledge, there is no direct investigation on this problem, in general. Let us review the existing results which relate to this problem. There are basically two methods: Browder's (implicit) method and Halpern's (explicit) method.

Browder's method [2]. Fix $u \in C$. For each $t \in (0, 1)$, let x_t be the unique fixed point in C of the contraction from C into C:

$$T_t x = tu + (1-t)Tx, \quad x \in C.$$
 (1.2)

Browder proved that

$$s - \lim_{t \downarrow 0} x_t = P_{F(T)}u. \tag{1.3}$$

That is, the strong limit of $\{x_t\}$ as $t \to 0^+$ is the fixed point of T which is closest from F(T) to u.

Halpern's method [4]. This is an iterative method. Again fix $u \in C$. For a given sequence $\{t_n\}$ in (0,1) and an initial guess $x_0 \in C$, define a sequence $\{x_n\}$ by the recursive formula:

$$x_{n+1} = t_n u + (1 - t_n) T x_n, \quad n \ge 0.$$
(1.4)

It is now known that this sequence $\{x_n\}$ converges in norm to the same limit $P_{F(T)}u$ as Browder's method provided the sequence $\{t_n\}$ satisfies the conditions (C1), (C2), and either (C3) or (C4) (e.g., $t_n = 1/(n+1)$) as follows:

(C1) $\lim_{n \to \infty} t_n = 0;$ (C2) $\sum_{\substack{n=1 \\ \infty}}^{\infty} t_n = \infty;$ (C3) $\sum_{\substack{n=1 \\ n \to \infty}}^{\infty} |t_{n+1} - t_n| < \infty;$ (C4) $\lim_{n \to \infty} (t_n/t_{n+1}) = 1.$

We notice that the above two methods can be used to find the minimumnorm fixed point x^{\dagger} of T if $0 \in C$. However, if $0 \notin C$, then neither Browder's nor Halpern's method works any more since the contraction $T_t x = (1 - t)Tx$ may be a nonself-mapping of C (so that T_t may fail to have a fixed point) or the point $(1 - t_n)Tx_n$ may not belong to C (consequently, x_{n+1} may be undefined).

In order to overcome the difficulties caused by possible exclusion of the origin from C, we introduce the following two remedies:

For Browder's method, we consider the contraction $x \mapsto P_C((1-t)Tx)$. Since this contraction clearly maps C into C, it has a unique fixed point which is still denoted by x_t ; thus

$$x_t = P_C((1-t)Tx_t). (1.5)$$

For Halpern's method, we consider the following modification of (1.4)

$$x_{n+1} = P_C((1 - t_n)Tx_n), \quad n \ge 0.$$
(1.6)

It is easily seen that the sequence $\{x_n\}$ is well-defined (i.e., $x_n \in C$ for all n).

Note that if $0 \in C$, then (1.5) and (1.6) are reduced to (1.2) and (1.4) with u = 0, respectively.

The purpose of this paper is to prove that both implicit and explicit methods (1.5) and (1.6) converge strongly to the minimum-norm fixed point x^{\dagger} of the nonexpansive mapping T as $t \to 0^+$ and $n \to \infty$, respectively (for (1.6), we assume (C1), (C2), and either (C3) or (C4)). For recent convergence studies on Browder's and Halpern's methods, the reader can consult Lions [5], Marino-Xu [6], O'Hara-Pillay-Xu [7, 8], Reich [10], Wittmann [11], and Xu [12, 13, 14, 15, 16, 17, 18].

2. Preliminaries

Let H be a real Hilbert space and let C be a closed convex subset of H. The metric (or nearest point) projection P_C from H onto C is defined as follows: for each $x \in H$, $P_C x$ is the unique point in C with the property

$$||x - P_C x|| = \inf\{||x - y|| : y \in C\}.$$

Proposition 2.1. (Basic properties of projections.)

(i) $\langle x - P_C x, y - P_C x \rangle \leq 0$ for all $x \in H$ and $y \in C$;

(ii)
$$\langle x - y, P_C x - P_C y \rangle \ge ||P_C x - P_C y||^2$$
 for all $x, y \in H$.

(iii) $||x - P_C x||^2 \le ||x - y||^2 - ||y - P_K C||^2$ for all $x \in H$ and $y \in C$

Lemma 2.2. (Demiclosedness Principle) (cf. [3, 9]) Let $T : C \to C$ be a nonexpansive mapping with $Fix(T) \neq \emptyset$. If $\{x_n\}$ is a sequence in C weakly converging to x and if $\{(I-T)x_n\}$ converges strongly to y, then (I-T)x = y. In particular, if y = 0, then $x \in F(T)$.

Lemma 2.3. Assume $\{a_n\}$ is a sequence of nonnegative real numbers such that

$$a_{n+1} \le (1 - \gamma_n)a_n + \gamma_n \delta_n, \quad n \ge 0,$$

where $\{\gamma_n\}$ is a sequence in (0,1) and $\{\delta_n\}$ is a sequence in \mathbb{R} such that

(i)
$$\sum_{n=1}^{\infty} \gamma_n = \infty;$$

(ii) either $\sum_{n=1}^{\infty} \gamma_n |\delta_n| < \infty$ or $\limsup_{n \to \infty} \delta_n \le 0.$

Then $\lim_{n \to \infty} a_n = 0.$

The following notation is employed:

- $x_n \to x$ means that $x_n \to x$ strongly;
- $x_n \rightharpoonup x$ means that $x_n \rightarrow x$ weakly;
- $\omega_w(x_n) := \{x : \exists x_{n_j} \rightharpoonup x\}$ is the weak ω -limit set of the sequence $\{x_n\}$.

3. Convergence results

Recall that we are concerned with the minimum-norm fixed point x^{\dagger} of a nonexpansive mapping $T: C \to C$, with C a nonempty closed convex subset of a real Hilbert space H, and we assume $F(T) \neq \emptyset$. In this section we present two methods, one implicit and one explicit, to find x^{\dagger} .

3.1. Implicit method.

Theorem 3.1. Let H be a real Hilbert space, C a nonempty closed convex subset of H, and $T : C \to C$ a nonexpansive mapping with $F(T) \neq \emptyset$. For each

 $t \in (0,1)$, let x_t be the unique fixed point in C of the contraction $P_C((1-t)T)$; that is, x_t is the unique solution of the fixed point equation (1.5). Then

$$s - \lim_{t \downarrow 0} x_t = x^{\dagger}.$$

Proof. First we prove that (x_t) is bounded. As a matter of fact, taking any point $p \in F(T)$, we derive that

$$||x_t - p|| = ||P_C((1-t)T)x_t - p|| \le ||(1-t)Tx_t - p|| = ||(1-t)(Tx_t - Tp) - tp||$$

 $\leq \|(1-t)\|x_t - p\| + t\|p\|.$

This implies that, for all $t \in (0, 1)$,

$$\|x_t - p\| \le \|p\|. \tag{3.1}$$

So (x_t) is bounded. Let M > 0 satisfy $M \ge \max\{\|x_t\|, \|Tx_t\|\}$ for all $t \in (0, 1)$. We then find that

$$||x_t - Tx_t|| = ||P_C((1-t)T)x_t - Tx_t|| \le ||(1-t)Tx_t - Tx_t|| = t||Tx_t|| \le tM \to 0,$$

as $t \to 0$. By applying Lemma 2.2 we get that $\omega_w(x_t) \subset F(T)$; that is, if (t_n) is a null sequence in (0, 1) such that $x_{t_n} \rightharpoonup \bar{x}$, then $\bar{x} \in F(T)$.

Next set $y_t = (1-t)Tx_t$. Then $x_t = P_C y_t$ and for $\tilde{x} \in F(T)$ we deduce that

$$x_t - \tilde{x} = P_C y_t - \tilde{x} = (y_t - \tilde{x}) + P_C y_t - y_t$$

= $(1 - t)(Tx_t - \tilde{x}) + t(-\tilde{x}) + (P_C y_t - y_t)$

Using $x_t - \tilde{x}$ to make inner product from both sides of the above equation, we get

$$\|x_t - \tilde{x}\|^2 = (1-t)\langle Tx_t - \tilde{x}, x_t - \tilde{x} \rangle + t\langle -\tilde{x}, x_t - \tilde{x} \rangle + \langle P_C y_t - y_t, x_t - \tilde{x} \rangle$$

$$\leq (1-t)\|x_t - \tilde{x}\|^2 + t\langle -\tilde{x}, x_t - \tilde{x} \rangle + \langle P_C y_t - y_t, P_C y_t - \tilde{x} \rangle. (3.2)$$

However, $\langle P_C y_t - y_t, P_C y_t - \tilde{x} \rangle \leq 0$. It then follows from (3.2) that

$$\|x_t - \tilde{x}\|^2 \le \langle -\tilde{x}, x_t - \tilde{x} \rangle.$$
(3.3)

Now if $\bar{x} \in \omega_w(x_t)$ and $x_{t_n} \to \bar{x}$ for some null sequence (t_n) in (0, 1). Then, since $\bar{x} \in F(T)$, we may substitute \bar{x} for \tilde{x} and t_n for t in (3.3) to obtain that $x_{t_n} \to \bar{x}$. Hence, (x_t) is indeed relatively compact (as $t \to 0$) in the norm topology. Note that (3.3) is equivalent to

$$\|x_t\|^2 \le \langle x_t, \tilde{x} \rangle. \tag{3.4}$$

Hence,

$$||x_t|| \le ||\tilde{x}||, \quad t \in (0,1), \; \tilde{x} \in F(T).$$
 (3.5)

This clearly implies that if $\bar{x} \in \omega_w(x_t) = \omega(x_t)$, then

$$\|\bar{x}\| \le \|\tilde{x}\| \quad \forall \tilde{x} \in F(T).$$

Therefore, $\bar{x} = x^{\dagger}$, where x^{\dagger} is the minimum-norm fixed point of T (i.e., $x^{\dagger} = \arg\min_{x \in F(T)} ||x||$), and we conclude that $x_t \to x^{\dagger}$ as $t \to 0$.

Corollary 3.2. Let H be a real Hilbert space, C a nonempty closed convex subset of H such that $0 \in C$, and $T : C \to C$ a nonexpansive mapping with $F(T) \neq \emptyset$. For each $t \in (0,1)$, let x_t be the unique fixed point in C of the contraction (1-t)T mapping C into C; that is, x_t is the unique solution in Cof the fixed point equation $x_t = (1-t)Tx_t$. Then

$$s - \lim_{t \downarrow 0} x_t = x^{\dagger}.$$

3.2. Explicit method.

Theorem 3.3. Let H be a real Hilbert space, C a nonempty closed convex subset of H, and $T : C \to C$ a nonexpansive mapping with $F(T) \neq \emptyset$. Let $\{t_n\}$ be a sequence in (0,1) satisfying conditions (C1), (C2), and either (C3)or (C4) introduced in Section 1. Define a sequence $\{x_n\}$ according to the recursive formula (1.6). Then

$$s - \lim_{n \to \infty} x_n = x^{\dagger}.$$

Proof. We divide the proof into several steps.

(1) We prove that (x_n) is bounded. Indeed, take a $p \in F(T)$ to deduce from (1.6), that:

$$||x_{n+1} - p|| = ||P_C((1 - t_n)Tx_n) - p|| \le ||(1 - t_n)Tx_n - p||$$

 $= \|(1-t_n)(Tx_n-p) - t_np\| \le (1-t_n)\|x_n - p\| + t_n\|p\| \le \max\{\|x_n - p\|, \|p\|\}.$

By induction, we get

 $||x_n - p|| \le \max\{||x_0 - p||, ||p||\}, \text{ for all } n \ge 0.$

Hence (x_n) is bounded. Let M > 0 such that $M \ge \max\{||x_n||, ||Tx_n||\}$ for all $n \in \mathbb{N}$.

(2) We show that $||x_{n+1} - x_n|| \to 0$. We compute, using the fact that P_C is nonexpansive,

$$||x_{n+1} - x_n|| = ||P_C((1 - t_n)Tx_n) - P_C((1 - t_{n-1})Tx_{n-1})||$$

$$\leq ||(1 - t_n)Tx_n - (1 - t_{n-1})Tx_{n-1}|| = ||(1 - t_n)(Tx_n - Tx_{n-1}) + (t_{n-1} - t_n)Tx_{n-1}||$$

$$\leq (1 - t_n)||x_n - x_{n-1}|| + M|t_{n-1} - t_n|$$
(3.6)

$$= (1 - t_n) \|x_n - x_{n-1}\| + Mt_n |1 - (t_{n-1}/t_n)|.$$
(3.7)

Now applying Lemma 2.3 to either (3.6) (if (C3) holds) or (3.7) (if (C4) holds), we find that $||x_{n+1} - x_n|| \to 0$.

(3) We show that $\omega_n(x_n) \subset F(T)$. Indeed, we have

$$||x_n - Tx_n|| \le ||x_{n+1} - x_n|| + ||x_{n+1} - Tx_n|| = ||x_{n+1} - x_n|| + ||P_C((1 - t_n)Tx_n) - Tx_n||$$

= $||x_{n+1} - x_n|| + t_n ||Tx_n|| \le ||x_{n+1} - x_n|| + t_n M \to 0$, as $n \to +\infty$.

It follows from Lemma 2.2 that $\omega_n(x_n) \subset F(T)$.

(4) We prove that $\limsup_{n\to\infty} \langle x^{\dagger} - x_n, x^{\dagger} \rangle \leq 0$. To see this, we take a subsequence $\{x_{n'}\}$ of $\{x_n\}$ such that

$$\limsup_{n \to \infty} \langle x^{\dagger} - x_n, x^{\dagger} \rangle = \lim_{n' \to \infty} \langle x^{\dagger} - x_{n'}, x^{\dagger} \rangle.$$

Since (x_n) is bounded, we may assume without loss of generality that $x_{n'} \rightharpoonup x' \in F(T)$. Since $x^{\dagger} = P_{F(T)}(0)$, we obtain by Proposition 2.1(i) and from the last equation

$$\limsup_{n \to \infty} \langle x^{\dagger} - x_n, x^{\dagger} \rangle = \langle x^{\dagger} - x', x^{\dagger} \rangle \le 0.$$

(5) Finally we prove that $x_n \to x^{\dagger}$. We compute

$$\|x_{n+1} - x^{\dagger}\|^{2} = \|P_{C}((1 - t_{n})Tx_{n}) - x^{\dagger}\|^{2} \le \|(1 - t_{n})Tx_{n} - x^{\dagger}\|^{2}$$
$$= \|(1 - t_{n})(Tx_{n} - x^{\dagger}) - t_{n}x^{\dagger}\|^{2} = (1 - t_{n})^{2}\|Tx_{n} - x^{\dagger}\|^{2}$$
$$+ 2t_{n}(1 - t_{n})\langle Tx_{n} - x^{\dagger}, -x^{\dagger}\rangle + t_{n}^{2}\|x^{\dagger}\|^{2} \le (1 - t_{n})\|x_{n} - x^{\dagger}\|^{2} + t_{n}\delta_{n} \quad (3.8)$$

where

$$\delta_{n} = 2(1-t_{n})\langle Tx_{n} - x^{\dagger}, -x^{\dagger} \rangle + t_{n} \|x^{\dagger}\|^{2}$$

= 2(1-t_{n})(\lappa Tx_{n} - x_{n}, -x^{\dagger} \rangle + \lappa x_{n} - x^{\dagger}, -x^{\dagger} \rangle) + t_{n} \|x^{\dagger}\|^{2}
\$\leq 2\|\mathbf{x}_{n} - T\mathbf{x}_{n} \|\|x^{\dagger}\| + 2(1-t_{n})\lappa x^{\dagger} - x_{n}, x^{\dagger} \rangle + t_{n} \|x^{\dagger}\|^{2}.

From steps 3 and 4, we get $\limsup_{n\to\infty} \delta_n \leq 0$. Then we apply Lemma 2.3 to (3.8) to get $||x_n - x^{\dagger}|| \to 0$. This completes the proof.

Corollary 3.4. Let H be a real Hilbert space, C a nonempty closed convex subset of H such that $0 \in C$, and $T : C \to C$ a nonexpansive mapping with $F(T) \neq \emptyset$. Let $\{t_n\}$ be sequence in (0, 1) satisfying conditions (C1), (C2), and either (C3) or (C4) introduced in Section 1. Define a sequence $\{x_n\}$ by

$$x_{n+1} = (1 - t_n)Tx_n, \quad n \ge 0.$$

Then

$$s - \lim_{n \to \infty} x_n = x^{\dagger}.$$

4. An Application

Consider the minimization problem

$$\min_{x \in C} \varphi(x) \tag{4.1}$$

where C is a closed convex subset of a real Hilbert space H and $\varphi : C \to \mathbb{R}$ is a continuously Frechet differentiable convex function. Denote by S the solution set of (4.1); that is,

$$S = \{ z \in C : \varphi(z) = \min_{x \in C} \varphi(x) \}.$$

Assume $S \neq \emptyset$.

It is known that a point $z \in C$ is a solution of (4.1) if and only if the following optimality condition holds:

$$z \in C, \quad \langle \nabla \varphi(z), x - z \rangle \ge 0, \quad x \in C.$$
 (4.2)

(Here $\nabla \varphi(x)$ denotes the gradient of φ at $x \in C$.) It is also known that the optimality condition (4.2) is equivalent to the following fixed point problem

$$z = T_{\gamma}z, \quad T_{\gamma} = P_C(I - \gamma \nabla \varphi)$$
 (4.3)

where P_C is the metric projection onto C and $\gamma > 0$ is any positive number.

Suppose now that the gradient $\nabla \varphi$ is Lipschitz continuous on C; that is, there is a constant L > 0 such that

$$\|\nabla\varphi(x) - \nabla\varphi(y)\| \le L\|x - y\|, \quad x, y \in C.$$

$$(4.4)$$

It is then not hard to see that if $0 < \gamma < 2/L$, the mapping T_{γ} is nonexpansive. As a matter of fact, noticing the fact that the Lipschitz condition (4.4) implies (see [1]) that the gradient $\nabla \varphi$ satisfies the inequality

$$\langle x - y, \nabla \varphi(x) - \nabla \varphi(y) \rangle \ge \frac{1}{L} \| \nabla \varphi(x) - \nabla \varphi(y) \|^2, \quad x, y \in C,$$
 (4.5)

we derive that

$$\begin{aligned} \|T_{\gamma}x - T_{\gamma}y\|^{2} &= \|P_{C}(I - \gamma\nabla\varphi)x - P_{C}(I - \gamma\nabla\varphi)y\|^{2} \leq \|(x - y) - \gamma(\nabla\varphi(x) - \nabla\varphi(y))\|^{2} \\ &= \|x - y\|^{2} - 2\gamma\langle x - y, \nabla\varphi(x) - \nabla\varphi(y)\rangle + \gamma^{2}\|\nabla\varphi(x) - \nabla\varphi(y)\|^{2} \\ &\leq \|x - y\|^{2} - \gamma\left(\frac{2}{L} - \gamma\right)\|\nabla\varphi(x) - \nabla\varphi(y)\|^{2} \leq \|x - y\|^{2}. \end{aligned}$$

Hence, T_{γ} is nonexpansive.

Using Theorems 3.1 and 3.3, we immediately arrive at the following result.

Theorem 4.1. Assume the objective function φ is continuously Frechet differentiable and convex and its gradient $\nabla \varphi$ satisfies the Lipschitz condition (4.4). Assume the solution set S of the minimization (4.1) is nonempty. Fix γ such that $0 < \gamma < 2/L$.

(i) For each $t \in (0,1)$, let x_t be the unique solution to the fixed point equation

$$x_t = P_C((1-t)P_C(I-\gamma\nabla\varphi)x_t).$$
(4.6)

Then $\{x_t\}$ converges in norm to the minimum-norm solution of the minimization (4.1).

(ii) Define a sequence $\{x_n\}$ via the recursive algorithm:

$$x_{n+1} = P_C((1-t_n)P_C(I-\gamma\nabla\varphi)x_n), \tag{4.7}$$

where the sequence $\{t_n\}$ satisfies the conditions (C1), (C2), and either (C3) or (C4) introduced in Section 1. Then $\{x_n\}$ converges in norm to the minimum-norm solution of the minimization (4.1).

Proof. Replacing the mapping T in both (1.5) and (1.6) with the mapping T_{γ} and noticing that the solution set S of (4.1) is precisely $F(T_{\gamma})$, we see that the conclusions of Theorem 4.1 are immediate consequences of Theorems 3.1 and 3.3.

YAN-LAN CUI AND XIA LIU

References

- J.B. Baillon and G. Haddad, Quelques proprietes des operateurs angle-bornes et ncycliquement monotones, Israel J. Math., 26(1977), 137-150.
- [2] F.E. Browder, Convergence theorems for sequences of nonlinear operators in Banach spaces, Math. Z., 100(1967), 201-225.
- [3] K. Geobel and W.A. Kirk, *Topics in Metric Fixed Point Theory*, Cambridge Studies in Advanced Mathematics, vol. 28, Cambridge University Press, 1990.
- [4] B. Halpern, Fixed points of nonexpanding maps, Bull. Amer. Math. Soc., 73(1967), 957-961.
- [5] P.L. Lions, Approximation de points fixes de contractions, C.R. Acad. Sci. Sèr. A-B Paris, 284(1977), 1357-1359.
- [6] G. Marino and H.K. Xu, A general iterative method for nonexpansive mappings in Hilbert spaces, J. Math. Anal. Appl., 318(2006), 43-52.
- [7] J.G. O'Hara, P. Pillay and H.K. Xu, Iterative approaches to finding nearest common fixed points of nonexpansive mappings in Hilbert spaces, Nonlinear Anal., 54(2003), 1417-1426.
- [8] J.G. O'Hara, P. Pillay and H.K. Xu, Iterative approaches to convex feasibility problems in Banach spaces, Nonlinear Anal., 64(2006), 2022-2042.
- Z. Opial, Weak convergence of the sequence of successive approximations of nonexpansive mappings, Bull. Amer. Math. Soc., 73(1967), 595-597.
- [10] S. Reich, Weak convergence theorems for nonexpansive mappings in Banach spaces, J. Math Anal. Appl., 67(1979), 274-276.
- [11] R. Wittmann, Approximation of fixed points of nonexpansive mappings, Arch. Math., 58(1992), 486-491.
- [12] H.K. Xu, Iterative algorithms for nonlinear operators, J. London Math. Soc., 66(2002), 240-256.
- [13] H.K. Xu, Another control condition in an iterative method for nonexpansive mappings, Bull. Austral. Math. Soc., 65(2002), 109-113.
- [14] H.K. Xu, Remarks on an iterative method for nonexpansive mappings, Comm. Appl. Nonlinear Anal., 10(2003), no.1, 67-75.
- [15] H.K. Xu, Viscosity approximation methods for nonexpansive mappings, J. Math. Anal. Appl., 298(2004), 279-291.
- [16] H.K. Xu, Strong convergence of an iterative method for Nonexpansive and accretive operators, J. Math. Anal. Appl., 314(2006), 631-643.
- [17] H.K. Xu, A regularization method for the proximal point algorithm, J. Global Optimiz., 36(2006), 115-125.
- [18] H.K. Xu, A variable Krasnoselskii-Mann algorithm and the multiple-set split feasibility problem, Inverse Problems, 22(2006), 2021-2034.

Received: November 25, 2008; Accepted: February 10, 2009.